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10. (1) 
 
"Won’t” is a contraction of “will not” – a negative statement. The corresponding question 
tag is thus “will you”. 
 
11. (4) 
 
"She’d” is a contraction of “she had” – a positive statement. The corresponding question tag 
is thus “hadn’t she”. 
 
12. (4) 
 
Words like “dislike” (just like “hardly” and “seldom”) may sound negative, but they are 
actually positive statements (He really does dislike going to school). In this case, the 
question tag is negative – so the answer is “doesn’t” since the sentence is in present tense. 
 
13. (2) 
 
The statement is a negative one (hardly), so the question tag is positive. The verb “goes” is 
in present tense, so the question tag “does” is the answer. 
 
14. (3) 
 
The adverbs scarcely, never, hardly, seldom all make a statement negative, so the question 
tag is positive. In this question, the answer would be “does she”. 
 
15. (2) 
 
The statement is a positive one (he did offer to help), so the question tag is negative: i.e. 
“didn’t he” is the answer. 
 
16. (3) 
 
The statement is a positive one (she did complete it), so the question tag is negative: i.e. 
“didn’t she” is the answer. 
 
17. (3) 
 
The statement is a positive one (were), so the question tag is negative: i.e. “weren’t they”. 
 
18. (2) 
 
You’d is a contraction of “you would”. The statement is positive, so the question tag will be 
negative “wouldn’t you”.  
 
  


